Multiply by Positive Powers of Ten (A)

Find each product.

7.5135 x 103 = 1.5 x 10! =
7.145 x 10% = 6.545 x 10 =
7.557 x 10 = 0.9 x 10* =
2.9432 x 103 = 6.2669 x 10 =
3.5596 x 10* = 9.9 x 10* =

0.5 x 10 = 4 %103 =
3.3654 x 103 = 8.65 x 10 =
2.8685 x 103 = 0.589 x 103 =
6.9 x 10* = 8.827 x 10 =
5.05 x 10% = 0.9935 x 10% =
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Multiply by Positive Powers of Ten (A) Answers

Find each product.

7.5135 x 10° =7,513.5 1.5x10'=15

7.145 x 10> = 714.5 6.545 x 10' = 65.45
7.557 x 10" = 75.57 09x10'=9

2.9432 x 10° = 2,943.2 6.2669 X 10" = 62.669
3.5596 x 10* = 35.596 9.9 x 101 =99
0.5x10'=5 4 x 10% = 4,000
3.3654 x 10° = 3,365.4 8.65 x 10 = 86.5
2.8685 x 10° = 2,868.5 0.589 x 10° =589

6.9 X 10' =69 8.827 x 10 = 88.27
5.05 x 10 = 505 0.9935 x 10% = 99.35
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